EARAZROREIERT — 2 N—XBISY —F 2016511250 (&) 14E%H5H

m SMNIEREES B10 Ho%—#i% \ (Xfg] B \ [REmshE]  — | & (B) 14000 B
[AE4£] 1% :170,000  ~ 2#&:40,000 ™ ~ 33#%&:17,000 M  43&:12,000 53 :9,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3| HEFIH-I 3 EU(J)%I 1:28.2 === | 87.3| — | 2 | 444 ﬂ?iﬁ; (%12)
R:Z27)—>k—A— ®B:3>KiLygv b ' ) -8) FEapse]
olzl 7| T=1F481 2 | Bl nar 3822 (96| — | 1| a7 | REE ()
R:x41=7—X B:ET7 X (=3) T HE2LG
3lgls FwadY LYy it 4 g%{%iﬁi 1:(239).4 4-3-4-3 | 38.1| — 3 419 %ﬁgg (5#2)
L:hOA4Z>d B:o-¥ovi (+6) TJr7=Z—klNT7—L
5= o8 o5 | ARES 1:29.4 7-5-5-5 | 87.7| — 5 458 | BEZREEL (S2H4)
4|5|5|77—7 56.0 (7€) GREL
Qi H—r BiA—KU-O-X QR P pistenes
TR g # o6 | EERA 1:29.8 2-2-3-4 [38.7| — 4 453 | EFEF) (F1R)
sl 6| 7VALY v KD 56.0 D) (+) | RARFE :
LNTUALTzA— B:ALAH) TR KRERBS
N > BESESERS 4 g‘{?fﬁz 1:(320).2 6-7-7-7 |87.9| — | 6 | 409 UJ(;'EF%_(%’;‘)T
RiZ =32 TR—L B:IATUYNLZIHIZ (2 g—L—- I vIN> T7—LERE
A PEPRIEENCE & S o4 ;:Z%E% (11310/24> 56-6-6 |38.1| — | 7 | 437 Ei@%ﬁ*ﬂ)
L THAFRIF— BiFy YN — 2 | T55 3as
— e e s 5 | AFHAE - - - - - 457 | WBRE= (542)
N 4 | ¥/VITER 54.0 (54 (-10) | TRIIZSE :
R:xA1=dr7— B:twU/F-HMJvkE B 5
® I —F—@EBIERL
13=zr= 3,6,7,8,1,2,5
Aol=5r= 3,6,(7,8),5,1,2
BEE 3,7,6,8,5,1,2
43—+ — 3,7,8,6,5,1,2
[ RN
B OB 3 260M 714K 3-7 100H B E 3-7 130H &R 3-7-8 200M
8 B 3 100M 3-8 170 B H 3-7 480M JEH 3-7-8 1,360M
7 1004 7-8 140H
8 1504

ABICOVWTRDTEEERROODE. TR LIV,



